
PreIB1 Short Test November 27, 2023

Name:
Result:

1. (4 points)
(a) Find the gradient of the line segment AB, where A = (−2, 2) and B = (2, 1).

(b) The gradient of the line segment CD is 2
3
, C = (−2, 1) and D = (4, yd). Find the second

coordinate of point D.

(c) Points E(−1, 2), F (5, 0) and G(xG,−1) are collinear. Find the first coordinate of point G.
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2. (3 points)
(a) Find the midpoint of AB, where A = (−5, 3) and B(3, 7).

(b) The midpoint of CD is MCD(2,−1) and C = (−1, 1). Find the coordinates of D.

3. (3 points)
(a) Write down an equation of the line with gradient 1

3
, which passes through (−3, 1).

(b) Find an equation of the line passing through points (−3, 2) and (1, 3).


